I EXPERIMENT NO. 1 c@fpakcitymg%n

To find the volume of a cylinder using Vernier caliper

APPARATUS: Vernier caliper, solid cylinder

DIAGRAM:

. Sliding strip used to find
S POGRING BETaW the depth of hollow bodies

Vernier Scale Main Scale

Cylinder

Lower Jaw

<)

PROCEDURE: @
| took vernier caliper, found its least ;oun@gﬁéero error. Then | paced the given

Y

cylinder lengthwise into the lower Jaw ightened the screw of vernier scale so that

jaws remained fixed. | observed Fﬁain scale reading just to the left of zero line of
vernier scale. That gave me sgain scale reading R. Then tofind fraction to be added “y” |
noted which of vernier scale division coincided with ‘any main scale division, n. |
multiplied that number by least count and thén added to méin scale reading R. That after
zero correction gave me the length of chinder; I repeated the experiment by changing
the position of cylinder three times more.

| did the same to find out diameter and radius of the cylinder and in the end calculated

volume by using this formula.
Volume of the cylinder = 777°[
% Vernier Constant (V.C)
Ve rnier constant / L east count = ._Va.lue of 1 smallest division on main scale

= e = —' | _ Tota1 number of divisions on vernier scale
- QT @ !lcm =

“ E

== = == —— =
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o Zero Correction (Z.C)

Zero error =

(i) 0O cm

(i) 0 cm

(iii) 0 cm

Means zero error=0cm

Zero correction =+0cm

Main Scale Vernier scale | Fraction to Final Reading
No. of | Quantity to reading division coinciding| be added
Obs. |be measured R withanymain |y=(nxV.C)| , Observed CO]'TECtEd
(cm) scale division (n) (cm) R=R+(nxV.C) R:Z.C.
1 2.8 7 0.07 2.87 2.87
2 2.8 8 0.08 2.88 2.88
Length ’

3 gt 2.8 7 0.07 2.87 2.87
- 2.8 6 0.06 - 2.86 2.86
1 0.7 4 0.04 0.74 0.74
2 : 0.7 6 0.06 0.76 0.76

Diamete
3 ‘ 0.7 5 0.05 Q@ 0.75 0.75
4 0.7 5 0,050) 0.75 0.75

%)V
CALCULATIONS: S
: 2.3@&@%&.87 2.86
Mean length of the cylinder=17= B> 4 : cm = 2.87 cm
! . 0.744+0.76+0.75+0.75
Mean diameter of the cyli g T amamn cm=0.75cm
; { 0.75 '
ius=n=D/2 = 'Cm=0.37-_5 cm

Volume of the cylinder = 77r*l"= 3 14% (0:375)* x 2.87 = 1.268 cm’

RESULT: -~ Y

Volume of cylinder = 1.268 cm”.

Please visit for more data at: www.pakcty.org




VIVA VO’CE:

Q: What is vernier constant?

, . Value of 1 llest division on Main scale 0.1cm
Ans: Vernier constant = —————- - 3Ma7es e =0.01cm
No.of divisions on Vernier scale 10

Q: What is meant by least count of vernier caliper?

Ans: The minimum measurement which can be made by the vernier calipers is called
Least count or vernier constant. Its value is 0.01cm.

Q: Write formula to find the volume of the cylinder.

Ans: Volume of the cylinder can be determined by using the formula
V= 72'7’21

Q: What is zero error?

Ans: If Main scale zero and vernier scale zero does no -@, cide when the jaws are closed
then the error occurring in measurement §c@d zero error.

Q: What is zero correction? Ny £t 1 AT 7. N
| Q @ —H'

=S T Aw To aﬂd or subtract the zero erri‘% théiobgemed &E@dmg is called zero correction.
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